
 

 

 

 

 

 

  



 



𝜌

𝜌 = 𝑅
𝐴

𝐿

𝑅 𝐴

𝐿

𝑅

𝑉

𝐼



𝑉 = 𝐼𝑅

𝑉 𝐼

𝑅

𝜌(𝑇) = 𝜌0(1 + 𝛼𝑇)

𝜌0

𝑇 𝛼







𝐸

𝑚
𝑑𝑣

𝑑𝑡
= −𝑒𝐸 −

𝑚𝑣

𝜏

𝑚 𝑒 𝜏



𝜏

𝜆

𝜏 =
𝜆

𝑣𝐹

𝑣𝐹

𝜏

𝑣 = −
𝑒𝜏

𝑚
𝐸

𝐽

𝐽 = 𝑛𝑒𝑣

𝑛 𝑣



𝐽 = (
𝑛𝑒2𝜏

𝑚
) 𝐸

 𝐽 = 𝜎𝐸 𝜎

𝜎 =
𝑛𝑒2𝜏

𝑚

𝜌 =
𝑚

𝑛𝑒2𝜏

𝑔(𝐸)



𝑔(𝐸) =
(2𝑚)3/2

2𝜋2ℏ3
𝐸1/2

ℏ

𝑓(𝐸) =
1

𝑒
𝐸−𝐸𝐹
𝑘𝐵𝑇 + 1

𝐸𝐹 𝑘𝐵 𝑇

𝐸𝐹

𝑇5



𝑇 = 0



𝜌(𝑇) = 𝜌𝑖𝑚𝑝 + 𝜌𝑝ℎ𝑜𝑛𝑜𝑛(𝑇)

𝜌𝑖𝑚𝑝

𝜌𝑝ℎ𝑜𝑛𝑜𝑛(𝑇)

Θ𝐷



𝐸 =
ℏ2𝑘2

2𝑚

ℏ 𝑘 𝑚



𝑓(𝐸) =
1

𝑒
𝐸−𝐸𝐹
𝑘𝐵𝑇 + 1

𝐸𝐹 𝑘𝐵 𝑇

𝑇

𝜓𝑘(𝑟) = 𝑒𝑖𝑘⋅𝑟𝑢𝑘(𝑟)



𝜓𝑘(𝑟) 𝑒𝑖𝑘⋅𝑟

𝑢𝑘(𝑟)

𝑘

𝑟

𝑢𝑘(𝑟)

𝜌(𝑇) = 𝐴 (
𝑇

Θ𝐷
)

5

∫
𝑥5𝑒𝑥

(𝑒𝑥 − 1)2

Θ𝐷/𝑇

0

𝑑𝑥 



𝜌(𝑇) 𝐴

Θ𝐷

𝑇 ≫ Θ𝐷

𝜌(𝑇) ∝ 𝑇

𝑇 ≪ Θ𝐷

𝑇5











𝑅 =
𝑉

𝐼

𝜌

𝜌 = 𝑅
𝐴

𝐿

𝐴 𝐿



 

 

 

 



 

 

 













 




